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In inequality form, the answer is  (—co,—=).

WEEK 3 PRACTICE ColvTiows

z=3-2 = =5
sloly=l s (m«lyO) xy? = zlely=1 x 210 x 42
= gl —1+042
= zyl.
+2 < -3z-1
32+2-2 < -3z-1-2
3z < -3z-3
3z+3z < -3z-3+3z
6z < -3
6z+6 < -3=6
z < —l. )
)

2

1
(d) Y 8iz=—6z — 3z + 0z + 3z = —6z.

i=—2

(e) Z(_l)ii

(1) X 2+ (=1)® x 3+ (=1)* x 4+ (—1)° x 5

§=2

2. (2 (1) 4={1,23}

3) BnC={0,8}.
4) A\C={1,3}.

= 2-34+4-5=-2

(bj (1) ANB={~1,0,4}n{-2,0,1} = {0} ,

(2) AuB=1{0,1,2,3,8,10}. (2) BUB ={-2, O,I}U{} = {-2,0,1}
3) CAB\4) = CN({-20,1}\{-1,0,4}
{_110: 5} N {_21 1} = {}
(@) (BuducC = ({-2,0,1}u{-1,0,4))uC

(5) A\ (BUC) = {3}.
(6) (AnB)NC={}.

(c) (1) p=5/10=1/2.
(2) p=16/10=3/5.
(3).p = 3/10.

(4) p=8/10 = 4/5.
(5) p=3/6=1/2.

{-2,-1,0,1,4}u{-1,0,5} =’~{—2, -1,0,1,4, 5}
(5) (CupynB = ({-1,0,5}u{}NnB
{_1:0)5} n {'—2101 1} = {0}

® Bron@uUe) = (2,013 0{-1,05)n ({~20,1}U{-1,0,5}
{0} N {_21 —17 0) 17 5} = {O}
g A\D\B\D) = (=104 \ )\ ({=2,01}\{})

= {_1,014} \ {_210) 1} = {_174}'

(6) Prob(ry is even) equals 5/10, and Prob(r; is even) equals 4/8. Now r; and ry are chosen independently, ;
s0 Prob(both even) = Prob(r; is even) x Prob(r; is even). 4

5
Hencep=— x - =

1078 80 4

4 2 1

(7) By the principle of inclusion/exclusion,

Prob(r; even or ry even) = Prob(r; even)+Prob(ry even)— Prob(r; and ry are even).

Heoncepo B 4 420 _40+40-20 60 "3
P=107"8 80" 80 80 4

(8) Now r; and ry are chosen independently, so
Prob(r; is even given that ry is even) =Prob(r; is even).
Hence p = 5/10 = 1/2.



